Al ) Jeaxdl) g ) <Gt Aol
)] 15 ghuual)

1 ol

Db e da 3
. b=x2(x=1)—x(1-x) a=3xx(-5x+2)

d =2x3(1-x)+3x2(x3+ x2 - X1, ¢=-X(x3=2x2+x-1)+ X(x2+2x~2)

2 G ;
: &La.lm.ue.a)&.a\

| =(5x—3)% ., J=(3x-1)(3x+1) , K=(x+3)°—(x=57 , L=2x(3-x)?

2

M =((x+1)+2)%,, N=(3x-1)% , 0=(x-1)°—(2-x)?

KITBoY]

Db b dee
A=16x—-4 , B=3x2-5x , C=3x3+6x2-9x , D=8x2-24x3+16X
E=x(1-x)-2Q1-%) ,, F=-3(4x+1)-2x(4x+1) ,, G=(x+2)(3x+1)-8(3x+1)

4 (ol

Db ledae
P=x2-2x+1 ,, R=x2+14x+49 , S=x2-16 T =4x2-9y?
U=9x2-16 , V=x%-1, W=1-81x%

S LAl
W
X=(x+1)? , Y=(x=1? . Z=(x+1)(x-1)
ZsY, X Ja i i 1

X-Y  das (2
X+2Z +Ydae (3




